v
1) =L = cost-e-t- 42t

dt P
(Shma) s S 2
{u AR i s - {
2) L— — 14x13 sin (x14) /q
dx 2 Ay = ><
———
the initial value problem expTicitly.
3) L“_ =4eX - cos xand y=5 when x=0
dx ’

4) % = 6x2 - 4x + 15; y=15whenx=1
dx

2) S _ 4,13 gin (x14)
dx

Solve the initial value problem explicitly.
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Evaluate the integral. 5 I\'qu- -3 )
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Evaluate the integral.
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Solve the initial value problem.

v
9) L{\_ =(x+5)cos xand y=2 when x =0
dx }

Use tabular integration to find the antiderivative.
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Solve the initial value problem.

9 L =(x+5)cosxand y=2 whenx =0 7
dx W )

Use tabular integration to find the antiderivative.
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